e

Manual Of Instruction

Before Beginning

AN N

$.1

\/‘

Save all packaging until assembly is complete.

Read instructions cover to cover.

Have 2 or more adults on hand for assembly.

Qj Assemble on a clean non-marring surface(packing foam)

Unpack all hardware packs and components
to ensure that no parts are missing.

Component List
Lable Picture Description Qty
A : Headboard 1
B Footboard 1
C —— Rail 2
D Cross Bar 13
Hardware List Tool List
Lable | Picture | Description | Qty Lable | Picture | Description | Qty
1 v | Bolt2-1/8"| 4
B - STl 8 L. |AlenKey(Mg)| 1
3 @ | Bolt1-318" | 26
4 Q Washer 12 ? \ Wrench 04 | 1
5 S Nut (M6) | 4 10 b [Allen Key (M5)| 1
6 S Nut (M5) | 26
- 7 ) Cap 2 L 1 X, |Wrenche (M5)| 1




/ Assembling

Assemble the rails (C) to the footboard (B) using bolt #2,
washer #4, nut #5, tool #8 & #9. See Fig 1.
Assemble the rails (C) to the headboard (A) using bolt #1,

washer #4, nut #5, tool #8 & #9. See Fig 2.
Then put the caps #7 on to the nuts #5, see Fig 1 & Fig 2.

Fig 3

Put cross bars (D) onto the rails (C). Assemble the
cross bars (D) to the rails (C) using bolt #3, nut #6,
tool #10 & #11. See Fig 3.




